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] 5 2 The sample space for the toss of three balanced coins, the values fbr Yl and Y, at each

! outcome, and the probability of each outcome are given below:
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5 1 O The reglon over whlch the joint densrry function
is positive is the triangular region shown in
:Figure 5.5. The shaded area is the region in
;whlch i<iandYz <3
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. fixed value of Yy, say Y1 = w1, f(yalvn) =
.' ! a. Bydefinition,

b. Given that Y[

; densny of}’g given ] = 2, which is

B | Hmwﬁ;hmHWMO={'
3, itis nEcessary to find P (Y > |Y1 =

e f

| 5 32 Itis glvcn that fl(yl) =1for0 <y < < 1, where Yl = amount stocked Further, for a !' :
- for0 <y < u, where Yg = amount sold. | __

0, e!sewhere '

for0<y2<y1<l _ l‘
e T

|

i

1). Usmcr the condmona]

E i [ B
| 2,0< < L
T P U, S 2z b
ey S (aln % 2) ® { 0, e]sewhere ’ lL
L | we have e o i 5
e b s 1:. . F i
l ' P( >ivi=3)= [ 2 dy = 2?:’2]1
{ 74 ;
i ! c. The probability of interest is P ( > 2]}/’2 1). Hence it is necessary to calculate
*.1 f(y1ly2). Note that i
AL : 1
e fﬁ(y2)=fﬁdyl=lﬂy1] =-—Iny, 0<yp <1
| ' va = '
1 * Thenif0 <y < 1
ez ] ' fluly) = fffﬂ;:}:} = = nun=sl e ;
_ or i e
: fuly:=3) = 743 t<msgl st g
Finally, - :
— 2 _
= ]"yl] 2= ni=1

S e

T




5 5 AV Conmdermg PV =3, Yy = 1) dp(%; )1@_1) |

e e |

. o3, 1) = 1 £ (1) (2) = @) | f

e "ﬂ“* : Thus, Y;and ¥ are not independent. )
942 pependent, for xample, P(Vi =0, Y, = 0) # PO = 0)P(¥s =)
548 Dependent as the range of y!._lyalu;s_ on which fy, _yg) is def‘ned d_e_Eent_:Es on . Jl

_________:__'__'____J- i T e L e iy et e Ll e Ly, ' 3
' 5 ; 50 Dependent as the range of y) values on which f(y,y2) is defined depends on Ya.
Morg rigorously one could yerifyfmm_ghe solution to exercise 5.28 that f(ys|Y:1 = v1) # f(w2)-

————-;_‘u"..f 5 58 It is given that - ' owit B i s TER o 2% .
B i30S ny)= ( ) (2)”'( B ¥ 3 =012 y?) = ( , ) (3)92(7)1_“3” =01

| . plansn) =mlealen) = (2) @A
L e forgy; =0, 1,2 andy, =0, 1. s ,- ' -

b. Since Y; is the number of customers in lme i,i=12, purchasmg more than SSO in

| groceries, the probablhty of interest is
. P(Y1+Y2<1) P(Y1 =0, Yz_O)+P(Y1—l%_0)+P[YE;O,}@:1)
— (B DB + ()P =864 |
o '




